T Series
Ticket 15

Version 5.0

Assembly Guide

¢> sprocket.




M2.5x10
X2
-
O 0 O
N
| ) CO
N/
u ° o)
O ) —
N\
A B c D E F G
F T | W | ® |
M5x10 M4x10 M6x16 M4x6 M3x8 4G :(12
X6 x9 x4 x4 x4 x1 x4



y&

@ - e )
DD\ =Y

— ,,,,I| 7‘ — - ) )
\\\h\ —
_, \
\ \

¢ sprocket.



STEP 2.5

I g

¢ sprocket.



STEP 3,5

¢ sprocket.



STEP 4/

¢ sprocket.



STEP 5,9

¢ sprocket.



I

B

i N\\\\\\%N\\\%&Nﬂv

o
~ .
(o < =
1 \ ﬂv s,
al -
LL) —\
= fe == 3
n = [T [T
O




STEP 79

&

il

¢ sprocket.



STEP 8,9

Portability Upgrade Kit

¢ sprocket.



STEP 9,5

Care & Maintenance

¢ sprocket.



